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Quiz #1

1. Determine the equation of the line that passes through point (}‘1‘,-—3) and is parallel

to the line whose equation is 3x -6y =4,

Clearly show all your work. (10 marks)




2. Determine the equation of the line that passes through point (3,~4) and is

perpendicular to the line whose equation is 3x — %}- -4=0.

Clearly show all your work. (10 marks)




3. Determine the equation of the line that passes through point (- 6,0) and is parallel

: o 3
to the line whose equationis x— >y = -3.
J

Clearly show all your work. (10 marks)




4. Determine the equation of the line that passes through point (5,»29 and is
AN
perpendicular to the line whose equation is 4x -5y +3=0.

Clearly show all your work. (10 marks)
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Quiz #2

. . . : 4 .
1. Determine the equation of the line that passes through point ( - 3‘4} and is parallel

to the line whose equation is ~3x-8=0.

Clearly show all your work. (10 marks)




2. Determine the equation of the line that passes through point (— 3, } and is parallel
/

[PSRE )

to the line whose equation is — —Z~y +7=0.

Clearly show all your work. (10 marks)




(S

b)

c)

Given the following four equations:

111

172

131

142

Determine whether 1, is perpendicular to L. Clearly show

3y-5x=1
6x—-10y+20=0
2y=4

x=0.6y

it. (3 marks)

Find a line that is parallel to 1. Clearly show all your work and Justify it. (3 marks)

Determine what line is concurrent with by in its y-inter

work and justify it. (4 marks)

all your work and justify

cept. Clearly show all your



4. Given the following four equations:

Iy : —:3~2—x:2

L: -3y+12x=10
Is: -9x-3y+3=0
Iy: -x—-4y=15

a)  Determine whether 1, is perpendicular to 1. Clearly show all your work and justify
it. (3 marks)

b)  Find a line that is parallel to 1;. Clearly show all your work and justify it. (3 marks)

¢)  Determine what line is concurrent with 1; in point (— 3,—3). Clearly show all your
work and justify it. (4 marks)
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Quiz #3

I Calculate the distance between points C (7,-9) and D (~8,11). Round off your
answer to the nearest hundredth, if necessary. Show all the steps in the solution.




2. Calculate the distance between points A (-2,3) and B (4,~7). Round off your
answer to the nearest hundredth, if necessary. Show all the steps in the solution.




3. The following expressions represent the distance between two points.

D)

2)

3)

Points A (~1,-5). B (6,0), and C (- 4,-5) were used to define the segments below.

Determine which expression(s) correspond(s) to each segment. Write the number for the
expression in the space provided. (5 marks)

a)

b)

J(6+4) +(0+5)

\/(~1+4)2 +(=5+5)

[4-7

J6+1) +(0+5)

J(~5~6)2+(—4~0)2

AC



Mary is standing at the information desk in Fairview Shopping Centre. She needs to
make two purchases — one at The Bay and one at Sears. She consults a map of the
mall and realizes that these two department stores are in opposite directions, and
that the only path between these stores passes by the information desk. What
distance will Mary cover if she wants to go to The Bay, and then back to Sears?

Clearly show all your work. (10 marks)

Scale
I unit = 50m

’Information Desk -_
T (453)



5. Adam takes part in a marathon one weekend. Given the coordinates of the key
points along the way and the fact that one unit corresponds to 500m, determine the
length of the marathon.

Clearly show all your work. (10 marks)

—+D (7.-2)

8
Finish (- 3,-2)

Start
(~5.-10)
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1.

b)

c)

d)

Quiz #4

Points Py, P3, and P; divide segment CD into four equal parts.

Determine the point that corresponds to each statement below. (5 marks)

Divides ?’:5 in a ratio of —2{
T . 3
Divides DC in a ratio of T

Is located % of the way along CcD

Divides EE in a ratio of %

[s located two-thirds of the way along 5?’:




2.

b)

d)

Points Py, Py, Ps, and P4 divide segment 4B into five equal parts.

O
A

Determine the point that corresponds to each statement below. (5 marks)

Divides B4 ina ratio of —3

2 _
Is located —St of the way along BA

Is located at the midpoint of EE

Divides —;I_E in a ratio of é—

Divides P, P, in a ratio of%



3. Calculate the coordinates of the point that divides segment ST in aratio of % . The

coordinates of point S are (2,-4) and those of point T are (~5.5). Show all the
steps in the solution. (5 marks)




4. Calculate the coordinates of the point that divides segment YZ in aratio of 6 . The

coordinates of point ¥ are (- 2,-8) and those of point Z are (11,5). Show all the
steps in the solution. (5 marks)




Two friends (one is at the Tim Horton’s on St. Charles Blvd, and one is at Place
Cartier) decide via their cell phones that they will walk to meet each other. After

ten minutes, the first friend (Friend 4) has covered % of the total distance from

Cartier to Tim Horton’s. Friend 4 is now at point 4;. By this time, Friend B
(walking south from the Tim Horton’s) has reached a point (B;) that divides the

) ) . 1
total distance in a ratio of —2~ )

One unit corresponds to 200 m. Determine the distance between the friends at the
end of ten minutes of walking by identifying the coordinates of points 4, and B,.

Clearly show all your work. (10 Marks)

Tim Horton’s
(2.9)

Place Cartier

; N

(11,3)



During a trip from Montreal to Nova Scotia, the Chisholm family made two stops.
They made their first stop (S,) one-third of the way to the Nova Scotia border and

the second stop (8S;) after covering —g of the total distance.

One unit corresponds to 50 km. Determine the distance between the two stops
(s, -S,) by identifying the coordinates of points S; and S,.

Clearly show all your work. (10 marks)

Montreal
(18,12)

Nova Scotia
(-3-7)



7. A cycling club decides to cycle from Montreal to Quebec City. Their trip is
expected to take a few days.

On the first day, they reach a point (Point B) that divides the total distance in a ratio
of —5:
7

On the second day, they cover one-third of the remaining distance (to reach Point

0).

One unit corresponds to 8 km. Determine the distance they have left to cover to
reach Quebec City (Point C - Quebec City) by identifying the coordinates of points
Band C.

Clearly show all your work.

Quebec City
(11,7)

Montre |
(-18,-13)




8. Margaret and Kevin are climbing to the top of Mont Tremblant. They are taking
two different routes to see who gets to the top first. The diagram below shows the
path each of them will take, as well as the coordinates of their starting points and of

the summit.
Top \(5, 12)

’
, v

’ " Margaret’s start
, (8.4)

Kevin’g start
<_— 3>O)

After a morning of hiking, Kevin has covered half the distance to the summit. He
then sits down to eat his lunch. Margaret, having injured her ankle, hasn’t made as
much progress. She notes that after she eats her lunch, she will have to hike twice
the distance already covered in order to reach the summit before the end of the day.

One unit corresponds to 200 m. Determine the distance between Margaret and
Kevin as they eat their lunches by identifying the coordinates of points .Y and Y.

Clearly show all your work.
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In triangle ABC, angle B is a right angle. The coordinates of 4 are (-16,0) and those of B
are (0,12). Determine the length of the base AC given that point C is located on the

X-axis.

Clearly show all your work. Show all the steps in the solution. (10 Marks)



- Lines 1; and 1, are perpendicular to line |; whose equation is 3x+5y—12=0. They
intersect I3 at its intercepts.

Determine the equation of the line that is equidistant from the two parallel lines.

Clearly show all your work. (10 marks)

I3 L
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1. Determine the equation of the line that passes through point | ~.—3  and s parallel

5 e

to the line whose equationis 3x -6y = 4.

Clearly show all vour work. (10 marks)

Q. L

JU——

_ A
BK*L&\;\):'—UK m= ( 2 5 753

—"

:__(f’,én; -—31'\’_\1_ %:N\‘L-’t'\D

ey )+
«g:(-‘» (» 4\
= 2 2
s
\
w\:—\;/ -3= ’I( ‘F&’)
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Quiz

d. Determine the equation of the line that passes through point (3.-4) and is
A
perpendicular to the line whose equation is 3x — 3;;— -4=0.

Clearly show all your work. (10 marks)

Q»\ Q'Z’

———

3v-2% _y=o
2

,%/> ”,3,\3 :C—-BK M )%




Determine the equation of the line that passes through peint (- 6.0} and is parallel

: .. 3
to the line whose equationis x— =~y =-3.
5

Clearly show all your work. (10 marks)

3 M‘:}:
Frgy= 3 i



g and 18

|

Lli Determine the equation of the line that passes through point ; 5-

e

perpendicular to the line whose equationis 4x -5y +3=0.

Clearly show all your work. {10 marks)

L U

-S
q‘L'SD-‘c%:O m= —

"S :’L{L"g
’:’3 = % Y Fmexlo
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Quiz 7

‘ : . 4 : .
1. Determine the equation of the line that passes through point | - —.4  and is parallel
i h :

to the line whose equationis —3x-8=0.

Clearly show all your work. (10 marks)

X\

—

—3y4-% =0 ANS

—= -3
= - &
3




2. Determine the equation of the line that passes through point ; -3,

and 1s parallel

(SRR

to the line whose equationis —— y+7=0.

|~

Clearly show all your work. (10 marks)
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‘} € Given the following four equations:

L 3y-5Sx=1

I 6x—-10y+20=0
Iy 2y=4

L x=00y

a)  Determine whether |; 1s perpendicular to I, Clearly show all your work and justify

‘it. (‘3111311&3)8 .\ 9»1,*' by -‘03 +20=0 I\/o\ Q‘ b nrot
L, 3y4-5x-= —10y = zbx-2% prpmdicfone L=
2 - SX*’)- -F—lD -0 — 10 .
?,‘l D Sin (g

= 3 - "

\ A Bk 2 QN = —\
\j % X ’,"5 { 2
by Find a line that 1s parallel to 1. Clearly show all vour work and justify it. (3 marks)

0~ur‘~ X =0.lay &\‘\ Dy

-0y = =lx - 5
:5‘1? -0.b Sine  bote awe o Slope = =
€= 15X
= ,%},s

¢} Determune what line is concurrent with L, in its y-intercept. Clearly show all vour
work and justify it. (4 marks)

Q‘?, < \,S—INLQALQQ‘\' = X - (O)Z>

g = - A&f;b Hanp v\~ (0\25

= Q% VS Conaummend wy H— Qg Y 9*’5&4‘1&@@'}‘(



t_[ﬁ Given the following four equations:

-2, = Jukwd Q.LN\L m = U‘\%%A

11: —X = L

I -3v+12x =10
L =9x-3y+3=0
L —x—4y=15

a)  Determine whether I is perpendicular to L. Clearly show all vour work and justify

1t.:’%maﬂ\x) Q%: -—x-‘hJ —\S é eS| Q.-L.l—i\
—3y = —\2x+10 “dy X HE g e hymly

— -z 2 e <
_ ) =l IS
\a— - L{ ¥ —!% y “ X L/

b}  Find a line that is parallel to L. Clearly show all vour work and justify it. {3 marks)

Iyt - 92-3y+3=0

-39 Q-3 Aoa 35 oo (e
”‘; ’: ’\3 ?MM o 0\3 ‘
\3:/ ~ &

¢ Determine what line is concurrent with 1, in point {— 3.-3). Clearly show all vour
work and justifyv it. (4 marks)

Q\{ o oS w00 i 90“&
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Quiz § 3

L. Caleulate the distance between points C (7.-9) and D (~8.11}. Round off vour
answer to the nearest hundredth, if necessary. Show all the steps in the solution.

é - J—(\—\’—\r’o\’l—\’ («g ’__\\2
- \1 20" & (-—\Qz

- LQ'L<




Calculate the distance between points A (~2.3) and B (4.-
answer to the nearest hundredth, if necessary. Show all the s

7). Round off vour
steps in the solution.

(\/ ::\[ (-—7*'92-\' (L\"Y‘?«\L
- m—\' [ 6)°

— \f 00 + 36

| 36

\

L4
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The following expressions represent the distance between two points.

L

3
o

s
o

Jo+4) +{0+5)

=14+ 4) +(=5+5)

4-1

Points A (-1-5). B (6.0), and C (~ 4~ 5) were used to define the segments below.

Determine which expression(s) correspond(s) to each segment. Write the number for the
expression mn the space provided. (5 marks)

aj

c}

A AJES 9 (=4 )
AC __3_7:2—__% 2
B m_L - W’ - 3
e L eae NI D

NS ()
BC = NES oY+ (u-Ly
\/'qu* (-10)*

\ A



Frer
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Quiz

\‘JE\ Mary is standing at the information desk in Fairview Shopping Centre. She nesds to
make two purchases — one at The Bay and one at Sears. She consults a map of the
mall and realizes that these two department stores are in opposite directions, and
that the only path between these stores passes by the information desk. What
distance will Mary cover if she wants to go to The Bay, and then back to Sears?

Clearly show all your work. (10 marks)

Scale
1 unit = 50m

Information Desk
T (483

-Sears
(8.-6)

2 n — oA S
d(S’\'&N\u \(\Q\‘) ek >\ o l 'F‘D Aa%\(, > gg
/’v—‘%‘\ CL: f\l~ "(D *'3)1;‘,(8—\-{.8 2
_q\%, <\

g \Z Y2 2+ 156.25 - \[ 8l x 122§

¢ 1495

14,069 ¢ 2 = 28.1gy
2%.1% +9.66 = %’) 830 L SOn~-

The Ba
(-8-3.

4RI

J

( 493.2¢
= A.Lbu

1R

i\

X




{ Adam takes part in a marathon one weekend. Given the coordinates of the key
points along the way and the fact that one umt corresponds to 500m, determine the
length of the marathon.

Clearly show all your work. (10 marks)

. i Y
Firush (- 3.-2)

d = \(\C-Z Y (1+3)°

- \[ OZ.\— ’O?,
= Jov

120840 + 13.600 + &y + [00

= Y3.6% v £ €o0n~

-

3

A \B20

o 20.82 Xn—
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Quiz #4

1. Points Py, P>, and P; divide segment CD into four equal parts.

Y
D)
.

C

~ Determine the point that corresponds to each statermnent below. (5 marks)

, e : 1
a)  Divides PD ina ratio of =~ P')

by Divides DC ina ratio of

— ]2
O

; 3 e
¢)  Islocated = ofthe wayv along CD ?1
4 =

B

e)  Islocated two-thirds of the way along EE Q

dy  Divides Ef)— i a ratio of

3

‘\)




9, . Points Py, P, P;, and P.divide segment 4B into five equal parts.

Determine the point that corresponds to each statement below. {5 marks)

e . 3
a) Divides B4 ina ratio of = Q—,
2 [~
hore S
by Islocated = of the way along B4 ’2)
3
¢} Islocated at the midpoint of Fg P -

¢\

d)  Divides 4P, ina ratio of

f_,)[»——a

[

S »
e)  Divides PP, ina ratio of 11 9(7
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Quiz

3., Caleulate the coordinates of the point that divides segment S7 in a ratio ot . . The

coordinates of point § are (2,~4) and those of point 7 are (- 5,5 ). Show all the
steps i the solution. (5 marks)

R




\-‘2., Caleulate the coordinates of the point that divides segment 1Z in aratio of —. The

coordinates of point ¥ are (- 2,~8) and those of point Z are (11.5). Show all the
steps in the solution. (5 marks)

:Z

(ol (Y
\

5
./ \
6, + DY O\\ﬁz‘\’bfﬁ\
A PSR
o +'o G+b
() () (=) [L)(s)~ () (%)
ST
G +71 o+ )
e 5 (-14) M
e E
$2-
i

M




g . Two friends (one is at the Tim Horton’s on St. Charles Blvd, and one is at Place
Cartier) decide via their cell phones that they will walk to meet each other. After

ten minutes, the first friend (Friend 4) has covered = of the total distance from

] b

Cartier to Tim Horton’s. Friend A4 is now at point.4;. By this time, Friend B
(walking south from the Tim Horton’s) has reached a point (B;) that divides the

v . ) . 1
total distance in a ratio of =

One unit corresponds to 200 m. Determine the distance between the friends at the
end of ten minutes of walking by identifying the coordinates of points .4, and B;.

Clearly show all your work. (10 Marks) d = \[(——I - 1‘2‘ >1+ (f - }'} ) :

;\JJSG+STW
Tim Horton’s = R.LEU ¥ 200m
T 57176,¥9m

a

2
b= 3
1;
1,

Place Cartier

(DO () (3 +(2X@) {i\f})\

Ay

O\\(L*“b‘ﬁ\ O\%L*\D\AY
T o ) o)

2\
J/,g -y ()31 (D(NH{3)E)

(757} s 5
Y 3 33 |\ + 9
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Quiz

(0 , Dunng a trip from Montreal to Nova Scotia, the Chisholm family made two stops.
They made their first stop (S;) one-third of the way to the Nova Scotia border and

the second stop (S,) after covering :_{ of the total distance.
b

One unit corresponds to 50 Km. Determine the distance between the two stops
(S,-S, ) by identifying the coordinates of points S; and S». \
Sg_ o= M b=

Clearly show all your work. (10 marks) Bda 4 Xy oy ¥ o 9
&3\,)/ are O ﬂ
Montreal v = .
(18.12) &\ D+ (V1) (D) D2
X (9, - 5 ) <

-2+ ¥ =28+ 12
— 5 , s~
Y (s
oy DXy G‘_ff\,},i&f—— he} Nwaﬁwtg
T:\: 0~+\9 {;31(
2
DG+ (D)
L)
E d S-Sy
A R | L D)
-3 N .
32 \ -y e+ oy

331,3 ﬁm(a

= 13.23 v ¥ 50l




7,‘ A cycling club decides to cycle from Montreal to Quebec City. Therr trip is
expected to take a few days.

On the first day, they reach a point (Point B) that divides the total distance in a
. 3
ratiop of = .
7
On the second day, they cover one-third of the remaining distance (to reach Point
).

One unit corresponds to 8 Km. Determine the distance ey have left to cover to
reach Quebec City (Point C ~ Quebec City) by identifying the coordinates of points
Band C.

Clearly show all your work.

d- \1@ 230 (WA 25T é aﬂ%

=~ 870480 + 1§ 20609
= 16.4u3S ¢ Tem

Quebec City
(1.7}

\9“{-5)/:):’)37 % UYZ—»

1

Montron] c: @
(~18.-13) &’;/)
Y ° O Ao DK age ¥OR
S N S Q. Vyz ow, are 0 ax\s
e O T e \ (0D {DERD (M2 )
(DWW (D) e T
o |0 ¢l Y
L= 1% -
=23 — 2L 2y = al ; = > 1;%
1D b) |10
T ) 1o

(-93,-7)
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Q, Margaret and Kevin are climbing to the top of Mont Tremblant. They are taking
two different routes to see who gets to the top first. The diagram below shows the
path each of them will take, as well as the coordinates of their starting points and of

the sumimnit. %2 Y2 Aty YDy 00514(\0\5 \
Wit ey
[

o=\ : 5
o= Top (Q,I 2) i
s &+o '
o, X bx\ AN ¥ O Y,
e

T > = vv B8 (0D M

5 ‘*’(‘ 3\ \’2 + O ) B /) 3
) b) 2 _z I g
e ks (\) X,'____“ ___________ L/m
z 2 T e e
Ny 2 )‘/ \‘\‘ 1\ Q/D
lf " Marearet’s start | "o
)/ “w‘ 3
Cl ) L’\ {(8.4) )
Kevm*'s start g\g)\ 7 | é E>
{(-3.0) 3
XA,

After a mormning of hiking, Kevin has covered half the distance to the summit. He
then sits down to eat his funch. Margaret. having i myured her ankle, hasn’t made as
much progress. She notes that after she eats her lunch. she will have to hike twice
the distance already coversd in order to reach the summit before the end of the dav.

One unit corresponds to 200 m. Determine the distance between M argaret and
Kevin as they eat their lunches by identifying the coordinates of pomnts Vand ¥

Clearly show all your work.
évi(@%—@f+(7~ﬁz

;m—\/—%(o

=604 U ¢ 2000 = (1207773
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In triangle 4BC, angle B is a right angle. The coordinates of 4 are { {-16.0) and thosz of B
are (0,12). Determine the length of the base .4C given that point C is located on the
X-ax1s.

Clearly show all your work. Show all the steps in the solution. (10 Marks)

(03

(,\b\& A .

(—7‘V@ 0)

:1(a+q | L =9
A5 patts




7 Linesl; and I; are perpendicular to line |; whose equationis 3x+5y—12 =0 . Thev
intersect 15 at its intercepts.

Determine the equation of the line that is equidistant from the two paralle] lines.

Clearly show all vour work. (10 marksy &%

-
P
»
*
K
x
bod
(o
o
=
o
=




